
Name:	____________________________	

Tier	2	Intervention	4.1	a,b,c		
	(sexual/asexual	reproduction)		

In	order	to	take	form	C	of	the	quiz,	you	must	complete	the	following	questions	correctly.	
	
1.		What	is	the	human	diploid	number?	What	is	the	human	haploid	number?	
	
2.		What	types	of	cells	are	considered	haploid?	What	type	are	considered	diploid?	
	
3.		What	are	2	advantages	of	sexual	reproduction?	
	
4.		What	are	2	advantages	of	asexual	reproduction?	
	
5.		How	is	meiosis	different	than	mitosis?		
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